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074L1E e H /B 1Eh 0.30 0881 03
074L1E e 25 B 0.14 0839 02
074L1E e LER Eih 0.38 0880 02
074t15 e $5H B 0.22 0882 03
074L1E e RHE Eih 0.47 0881 02
074t15 e [LHET Eih 0.32 0880 01
074L1E e = Eith 0.12 0840 02
074t15 e &K B 0.35 0881 01
074L1E e 53 Bt 0.26 0839 03
074t15 e 7R FAI7ILE 0.15 0879 01
074L1E e i Bt 0.09 0880 03
074t15 e NIE B 0.40 0921 03
074L1E HE tIR B 0.28 0923 01
074t15 HE T8 B 7 0.20 0924 01
074L1E e HRE B F 0.34 0882 02
074t15 e BE FAI7ILE 0.14 0840 01
074L1E e &M 2 0.11 0840 03
074t15 e Jt4m Eih 0.41 0841 03
074L1E e AVE Eih 0.53 0922 03
074t15 TEUIR BT Eih 0.31 0764 01
074L1E TERIR TR Eih 0.30 0803 02
074L1E TR fEEE Bt 0.13 0802 01
074L1E TERIR =G 2 0.14 0801 01
074t4E TR REEF B 7 0.10 0801 03
074L1E TR &3[R Eh 0.33 0765 01
074t4E TERIR )3 R B 7 0.21 0766 02
07415 TERIR EXE Eih 0.24 0841 02
074t1E TRk oo 3| Eih 0.37 0840 04
074L1E TR AR Eh 0.36 0763 01
074t15 TRk t AR Eih 0.44 0800 03
074L1E TR INEIK Eh 0.52 0800 02
074L1E TRk FEH 1R 0.19 0801 02
074L1E TR EBH Eh 0.38 0802 03
074t1E TR 55 BhF 0.14 0802 02
07415 TR e it 0.34 0842 03
(JERE TERIR HEH Bt 0.30 0841 01
074L1E #RH HENET FAI7ILE 0.14 0967 02
074t1E ##H fENET FAI7ILE 0.15 0968 04
074L1E i TE FAI7ILE 0.08 0927 03
074t4E ##H M B F 0.11 0968 03
074L1E #RH EL Bt 0.37 1011 02
0744 SR H R FAI7ILE 0.07 0926 02
074L1E #RH 28 Bt 0.21 0971 02
0741 SR H ftE FAI7ILE 0.08 0968 02
074LiE #H R Bt 0.10 0969 01
074t1E ] 1R FAI7ILE 0.11 0969 02
074LiE #H pii L Bt 0.17 1012 02
074t1E ] T FAI7ILE 0.11 0926 01
074t15 S JILERT B 7 0.21 0970 01
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074LiE #H JI T Eih 0.33 0971 01
074L4E HH X4 FAI7ILE 0.26 0967 01
074L1E ] PR Eih 0.13 0924 04
074L4E HH thiT FAI7ILE 0.30 0925 02
074L1E ] BT FAI7ILE 0.12 0925 03
074L4E HH thH FAI7ILE 0.24 0927 01
074L1E fEH hH FAI7ILE 0.16 0969 03
074t15 #| BT a4 —hk 0.09 1011 01
074t1E pds M/ BhF 0.21 0924 02
074L1E #E M/ FAI7ILE 0.12 0924 03
074L1E fEH BRE Eih 0.40 0970 02
074t15 Fiidas) 3 B 7 0.24 0928 01
074L1E fEH Ei5 Eih 0.23 0970 03
074t15 fads EER FAI7ILE 0.13 0967 03
074L1E fEH FHER FARAI7ILE 0.12 0968 01
074t15 pads O FAI7ILE 0.17 0969 04
074t15 HF fELLI#S B F 0.36 1093 02
074t15 HF &) R Eih 0.40 1012 03
074L1E AF [LHT 2 0.10 1012 01
074LiE HF =1&R (23 0.15 1093 01
074LiE AF = Bt 0.49 1093 03
074t15 HF EIE FAI7ILE 0.10 1052 03
074L1E HF EARRH FRAI7ILE 0.09 1010 01
074LiE HF a%H FAI7ILE 0.13 1011 03
074L1E HF A4 H FAI7ILE 0.15 1011 04
074LiE HF RE FAI7ILE 0.14 1053 01
074L1E HF iRE Bith 0.10 1053 02
074LiE HF RE FAI7ILE 0.14 1053 03
074L1E HF iRE Bith 0.11 1053 04
074t1E AF R/E FAI7ILE 0.15 1051 03
074L1E HF hETE FRAI7ILE 0.13 1052 01
074t1E AF L] FAI7ILE 0.09 1052 02
074t15 HF TR FAI7ILE 0.16 1051 02
0741 HF TR 1Eih 0.23 1051 01
074t15 B — A B 0.09 0804 01
0744 =X — A 2t 0.24 0804 03
074L1E BR TR FAI7ILE 0.09 0844 02
074t4E =R kIR BhF 0.16 0803 01
074L1E XA iz g 0.13 0882 01
0741 =28 i 2t 0.45 0883 03
074L1E B BR Fith 0.30 0803 03
074t1E =28 HEE BhF 0.15 0843 02
074t15 B kel B F 0.22 0842 01
0741 =X il FAI7ILE 0.09 0884 01
074t15 =R ORC FAI7ILE 0.12 0885 04
074L1E =X XEH 12 0.13 0883 01
074t15 =R BB B 7 0.10 0843 03
074L1E =i BR/IE FAI7ILE 0.09 0925 01
074L1E =R H BT FAI7ILE 0.27 0884 02
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074LiE =X H il 1Eh 0.11 0884 03
074t15 =R FLIR5th FAI7ILE 0.18 0926 03
074L1E =i FLIRth Eith 0.08 0926 04
074L1E =R /0 B 0.10 0804 02
074L1E =X THEAE FAI7ILE 0.12 0844 01
074L4E =R/ = M FAI7ILE 0.07 0884 04
074L1E =R av:kal BhF 0.27 0842 02
074L1E =R AR B 0.25 0843 01
074L1E =R av:kal BhF 0.28 0883 02
074L4E AL HT ZE5l B 0.36 0847 01
074L1E FELHE T#HH Eith 0.18 0888 03
074t4E #E AT TR B 0.37 0929 04
074L1E AL Hr HER FRAI7ILE 0.15 0927 02
074LiE el HAH FAI7ILE 0.13 0885 01
074L1E #ELHET S FARAI7ILE 0.11 0845 04
074L4E f el EE S FAI7ILE 0.15 0846 01
074L1E #ELHET BEi:E] Eih 0.32 0847 02
074t15 #LET D B F 0.23 0888 01
074L1E #ELHET BEi:E] 2 0.44 0889 02
074LiE el L (23 0.30 0848 02
074L4E HEEET SEHT 2 0.12 0844 03
074L4E f el SEHT FAI7ILE 0.10 0844 04
074L1E #ELHET SEHT FARAI7ILE 0.13 0845 01
074t1E #E_EHT oo 3| FAI7ILE 0.11 0885 02
074t4E AL HT SEIKA FRAI7ILE 0.15 0929 02
074t45 #E BT 75 5 H B F 0.20 0929 01
074t4E HBLET FEL) IR FRI7ILE 0.11 0845 03
074t1E #E BT )1 R FAI7ILE 0.24 0886 01
074L1E AL HT AR Eih 0.29 0928 02
074t1E #E BT BT 1R 0.13 0845 02
074t4E AL HT BT FRAI7ILE 0.10 0886 04
074t4E #E BT B EHHE B F 0.29 0929 03
074L1E AL HT 18 E AT Bith 0.31 0888 02
074t1E AL HT E A 1Eih 0.47 0889 03
074L1E #LET iE AR Bt 0.29 0930 02
074t1E LR E AT i 0.39 0931 02
074t15 #EEET iE AR it 0.30 0931 03
074t1E BELHE EE=RlII 2 0.18 0848 01
074L1E #EEET )13 H FAI7ILE 0.18 0887 03
(\ERE LT JENNE Bt 0.30 0848 03
074L1E #LET JtimE FAI7ILE 0.09 0846 04
0744 LR BE L HT 2 0.12 0885 03
074L1E #LEET HiiA FAI7ILE 0.07 0805 01
0741 BELHE Hi;A FAI7ILE 0.12 0805 02
074L1E #E BT HiiA FAI7ILE 0.12 0805 03
074L1E BELHE HIiA Eih 0.14 0805 04
074LiE AL HT =1l Bt 0.17 0889 01
074t1E AL Hr =M B F 0.15 0928 03
074L1E el FAI7ILE 0.12 0806 01
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074L1E A AT FAI7ILE 0.14 0806 02
074L4E el FAI7ILE 0.17 0806 03
074L1E AL Hr BoF 0.13 0847 03
074L4E el i 0.31 0930 03
074L1E FLERET—TH Eith 0.14 0886 02
074L4E HEETREI—TH FAI7ILE 0.13 0886 03
074L1E FLERET—TH FAI7ILE 0.09 0887 01
074L1E A EEREI=TH FAI7ILE 0.14 0887 02
074L1E BELEHREI—TH Eith 0.08 0846 02
074L1E HEIEREI—TH FAI7ILE 0.12 0846 03
074L1E GBS =] R RBE AT FAI7ILE 0.17 1051 04
074L1E GBS 5= THIEH B 0.29 1008 01
074t15 GES3dE] ki B F 0.30 1008 03
074t15 GBS 5= £EEF FAI7ILE 0.15 0962 04
074L1E GES3dE] BT FRAI7 Ik 0.13 1010 02
074t15 GBS 5= TEH FAI7ILE 0.25 0963 01
074L1E GBS 1= IR FARAI7ILE 0.14 1050 03
074L1E ESSEE] MR avy)—k 0.12 1050 02
074L1E GBS 1= =HE FARAI7ILE 0.18 1009 02
074t15 GBS 5= = K FAI7ILE 0.14 0963 03
074L1E GES3dE] A FAI7ILE 0.15 1007 02
074L1E GBS 5= A (23 0.10 1007 03
074L1E GBS 1= A FARAI7ILE 0.15 1049 05
074t1E ES3EE] INR 2t 0.12 1049 04
074LiE ESSEE] &K Eih 0.08 1005 02
074t1E LESS=] TR H FAI7ILE 0.18 1006 03
074t4E GESSE =P B F 0.12 1051 05
074t1E ES 32z Bt FAI7ILE 0.17 1005 04
074L1E ESSEE] Bt Eih 0.09 1006 02
074t1E GBS 5= Hh &% H FAI7ILE 0.11 0961 06
074L1E GESSE FEH FRAI7ILE 0.19 1006 01
074t1E ES3EE] T FAI7ILE 0.15 1048 04
074L1E GESSE BT a4y —k 0.11 1005 05
0741 LESEE] BE FAI7ILE 0.23 0962 01
074t15 GESSEE] HER FAI7ILE 0.13 1009 01
074L1E LESEE] B FAI7ILE 0.15 0961 03
074t15 GESSEE] & FAI7ILE 0.13 1007 01
0741 LESEE] HIE I 1Eih 0.37 1008 02
074L1E tX%HE £H g 0.20 0923 03
0741 JtXEHHE [RH FAI7ILE 0.13 0964 01
07415 tXEHHE [EH avy—k 0.23 1006 04
0744 JtXEHHE [RH FAI7ILE 0.15 1007 04
074t15 tX%HE BE/A FAI7ILE 0.13 1010 04
0741 JtXEHHE = 4 Eih 0.32 0966 02
074t15 tX%HE RE FAI7ILE 0.16 1010 03
074L1E FtXEHHE I Eih 0.29 0965 01
074t15 ;tEEHE HAJ B 0.30 0923 02
074L1E FtXEHHE INEH Eih 0.27 0965 02
074t15 tX%HE BIRBI FAI7ILE 0.21 1009 03
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074L1E FtXEHHE 1B/ E FAI7ILE 0.16 0965 03
074t15 TtEHE rr /7 B F 0.26 0966 03
074L1E FtXEHHE B Eih 0.37 0966 01
074t15 tX%HE I\E Eih 0.40 0965 04
074L1E AN )11 48 FAI7ILE 0.11 1095 02
074t15 AH EHFE M FAI7ILE 0.11 1053 05
074t1E AR 75571 5 BhF 0.19 1095 03
074t15 AH gl FAI7ILE 0.14 1095 04
074L1E AN FEET I Eih 0.29 1054 01
074t15 AH PTE FAI7ILE 0.11 1096 03
074L1E AN ELi) Eith 0.18 1054 03
074t15 AH FIETE avy)—k 0.10 1054 02
074L1E AN tTE 2 0.20 1096 04
074t15 AR tTE FAI7ILE 0.14 1096 05
074L1E AN FARAI7ILE 0.34 1096 01
07415 AR Eih 0.10 1096 02




